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#include <stdio.h>
#include <math.h>

main(){

static int q,n=b5;
static float E,e,pi=3.141592,a=12.49/1000000.0 ,kx,ky,t;
FILE *g2d;
FILE *g2dm;
g2d=fopen("g2d.dat","w");
g2dm=fopen("g2dm.dat","w") ;
for (kx=-3.0%pi/a;kx<=3.0%*pi/a;kx=kx+10000.0/2.0)
{

for(ky=-3.0%pi/a;ky<=3.0*pi/a;ky=ky+10000.0/2.0)

ooo A

OO0 E=sqrt(1.0+4.0%cos((sqrt(3.0)*kx*a)/2.0)*cos(ky*a/2.0)
000000 +4.0xcos (ky*a/2.0) *cos (ky*a/2.0)) ;

e=-E;

if ((kx<= 2.0*pi/(sqrt(3.0)*a)) && (kx>= -2.0*pi/(sqrt(3.0)*a))
O000&& (ky<= 4.0%pi/(3.0%a)) && (ky>= -4.0%pi/(3.0%a))
O0000&& (ky<= (-sqrt(3.0)/3.0)*kx+4.0%*pi/(3.0%a))
O0000&& (ky<= (sqrt(3.0)/3.0)*kx+4.0xpi/(3.0%a))
O000&& (ky>= (sqrt(3.0)/3.0)*kx-4.0%pi/ (3.0%a))
O000&& (ky>= (-sqrt(3.0)/3.0)*kx-4.0%pi/(3.0%a))){

fprintf (g2d,"%1f %1t %1f \n",kx,ky,E);
fprintf (g2dm, "%1f %1f %1f \n",kx,ky,e);
}
}
}
}
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#include <stdio.h>
#include <math.h>

main()q{
static int q,n=10;
static float E,pi=3.141592,a=2.49/1000000.0,k,t;
FILE *armchair;
armchair=fopen("armchair.dat","w");
for(g=1;q<=2%n;q++)

{
for(k=-pi/a;k<=pi/a;k=k+30000.0)

E=sqrt(1.0+4.0%*cos((double)qg*pi/(double)n)*cos(k*a/2.0)
+4 .0*cos(k*a/2.0)*cos(k*a/2.0));

fprintf (armchair,"%1f %»1f \n",k,E);
/* printf ("}1f ALf\n" ,k,E) ;*/
E=-E;
fprintf (armchair,"%1f %»1f \n",k,E);
/* printf("%1f HLf\n" ,k,E);*/
E=sqrt(1.0-4.0*cos(g*pi/n)*cos(k*a/2.0)+4.0*cos(k*a/2.0)*cos(k*a/2.0));
fprintf (armchair,"%1f %1f \n",k,E);
/* printf ("}1f %hlf\n" ,k,E);*/
E=-E;
fprintf (armchair, "%1f %1f \n",k,E);
/* printf ("%1f %1f\n",k,E); */
}
}
}
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#include <stdio.h>
#include <math.h>

main(){

static int q,n=9;
static float E,pi=3.141592,a=2.49/1000000.0,k,t;
FILE *zigzag;

zigzag=fopen("zigzag.dat","w");

for(g=1;q<=2*n;q++)
{
for (k=-pi/(sqrt(3.0)*a) ; k<=pi/(sqrt(3.0)*a) ; k=k+20000.0)

E=sqrt(1.0+4.0%*cos(sqrt(3.0)*k*a/2.0)*cos(q*pi/n)
+4.0*cos (q*pi/n)*cos(q*pi/n));
fprintf (zigzag, "%1f %1f \n",k,E);
/* printf ("}1f ALf\n" ,k,E) ;*/
E=-E;
fprintf (zigzag,"%1f %1f \n",k,E);
/* printf ("%1f %1f\n" ,k,E) ;*/

E=sqrt(1.0-4.0%*cos(sqrt(3.0)*k*a/2.0)*cos(q*pi/n)
+4.0*cos(g*pi/n)*cos(q*pi/n));

fprintf (zigzag, "%1f %1f \n",k,E);

/* printf ("%1f %1f\n" ,k,E) ;*/

E=-E;

fprintf (zigzag,"%1f %1f \n",k,E);
/* printf("%1f %1f\n" ,k,E); */
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